Full View	Temporary Number	Artist - First Name	Artist - Second Name	Title	Year	Description	Community	Prov/Terr
Jones L.	2019-2-IAFS-4024	Augustin	Anaittuq	Sea Goddess	1974	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
24	2019-2-IAFS-4025	Augustin	Anaittuq	Drinking	1975	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
0	2019-2-IAFS-4026	Sabina Qunqnirq	Anaittuq	Three Birds	c. 1963 - 1966	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
Windshift .	2019-2-IAFS-4027	Sabina Qunqnirq	Anaittuq	Bear and Seals	c. 1970	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
B	2019-2-IAFS-4028A	Sabina Qunqnirq	Anaittuq	Hunter and Bear	c. 1970	Sculpture; Whalebone; Hide; Baleen	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
A.	2019-2-IAFS-4028B	Sabina Qunqnirq	Anaittuq	Hunter and Bear	c. 1970	Sculpture; Whalebone; Hide; Baleen	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-2-IAFS-4029	Sabina Qunqnirq	Anaittuq	Spirits	1974	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
7	2019-2-IAFS-4030A	Sabina Qunqnirq	Anaittuq	Bear, Seal and Bird	1975	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
7-	2019-2-IAFS-4030B	Sabina Qunqnirq	Anaittuq	Bear, Seal and Bird	1975	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
1	2019-2-IAFS-4031	Sabina Qunqnirq	Anaittuq	Standing Figure	1975	Sculpture; Ivory; Grey Stone; Fibre	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
ســــــــــــــــــــــــــــــــــــــ	2019-2-IAFS-4032	Sabina Qunqnirq	Anaittuq	Men in Kayaks	1977 - 1978	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
41	2019-IAFS-13277	Augustin	Anaittuq	Tall and Thin, Short and Fat	1975	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
_ul	2019-IAFS-13278	Augustin	Anaittuq	Drying Fish	1975	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
C	2019-IAFS-13279	Augustin	Anaittuq	Suicide	1975	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-13280	Augustin	Anaittuq	Shaman with Helping Spirit	1990	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)

Full View	Temporary Number	Artist - First Name	Artist - Second Name	Title	Year	Description	Community	Prov/Terr
-4	2019-IAFS-13281	Sabina Qunqnirq	Anaittuq	Hunter and Seal	1975	Sculpture; Grey Stone; Ivory	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-2-IAFS-4036	Simeona A.	Angutingonerk	Figure	1974	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-13282	Simeona A.	Angutingonerk	Dog	c.1967	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-2-IAFS-4034	1	Arnakretuar	Dog	c. 1967	Sculpture; Bone	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-2-IAFS-4035	Simeona	Arnakretuar	Sea Creature	1973	Sculpture; Ivory	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
é	2019-2-IAFS-4037A	Antonin	Attark	Pope Pius XII	c. 1954	Sculpture; Ivory; Plastic	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
查	2019-2-IAFS-4037B	Antonin	Attark	Pope Pius XII	c. 1954	Sculpture; Ivory; Plastic	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
ME. EHLIK	2019-IAFS-13283	Antonin	Attark	Mass	c.1954	Sculpture; Ivory	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
1	2019-2-IAFS-4038	Emily	Illuitok	Whale Tooth Totem	n.d.	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-2-IAFS-4039A	Emily	Illuitok	Seance		Sculpture; Anterl; Caribou Hide; Grey Stone; Ivory; Baleen	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-2-IAFS-4039B	Emily	Illuitok	Seance	c. 1973	Sculpture; Anterl; Caribou Hide; Grey Stone; Ivory; Baleen	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
*	2019-IAFS-13284	Emily	Illuitok	Netsilik	n.d.	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
1.1	2019-IAFS-13285	Emily	Illuitok	Standing Man and Acrobat	mi-1970s	Sculpture; Ivory; Bone	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
184	2019-IAFS-13286	Emily	Illuitok	Two Figures	1977	Sculpture; Bone; Ivory; Sinew	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
À	2019-2-IAFS-4040	Alma	Inutuinaq	Dog	n.d.	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)

Full View	Temporary Number	Artist - First Name	Artist - Second Name	Title	Year	Description	Community	Prov/Terr
	2019-2-IAFS-4041	Alma	Inutuinaq	Untitled	n.d.	Textile; Wall Hanging	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-2-IAFS-4042	Alma	Inutuinaq	Untitled	n.d.	Textile; Wall Hanging	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-12274	Agnes Nulluq	Iqqugaqtuq	Two Women and Fish	n.d.	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
***	2019-IAFS-12275	Agnes Nulluq	Iqqugaqtuq	Twelve Birds	n.d.	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
W.	2019-IAFS-12276	Agnes Nulluq	Iqqugaqtuq	Rookery with Birds	n.d.	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
M. MA	2019-IAFS-12277	Agnes Nulluq	Iqqugaqtuq	Playing in Camp	n.d.	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
140	2019-IAFS-12278	Agnes Nulluq	lqqugaqtuq	Playing in Camp	n.d.	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
-2.11	2019-IAFS-12279	Agnes Nulluq	lqqugaqtuq	Couple with Dog Team	1967	Sculpture; Sinew; Black Stone; Ivory	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
-	2019-IAFS-12280	Agnes Nulluq	lqqugaqtuq	Two Owls	1973	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
A. L	2019-IAFS-12281A	Agnes Nulluq	Iqqugaqtuq	Woman and Seals on Base with Carved Heads	1973	Sculpture; Bone; Ivory; Sinew	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-12282	Agnes Nulluq	lqqugaqtuq	Hunter, Dog and Seal	1974	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
21	2019-IAFS-12283	Agnes Nulluq	Iqqugaqtuq	Woman with Birds Heads on Shoulders, Boy with Whip	1974	Sculpture; Antler; Hide; Sinew	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
4	2019-IAFS-12284	Agnes Nulluq	Iqqugaqtuq	Five Owls on a Base	1976	Sculpture; Bone; Ivory	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-12285	Agnes Nulluq	Iqqugaqtuq	Untitled	n.d.	Textile; Wall Hanging	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
-	2019-IAFS-12286	Solomon	lqquiyuituq	Sedna	1975	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)

Full View	Temporary Number	Artist - First Name	Artist - Second Name	Title	Year	Description	Community	Prov/Terr
-day	2019-IAFS-12287	Solomon	Iqquiyuituq	Komatik and Dogs	1987	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-12288	Bibiana	Ittimangnaq	Hand and Bear	1970	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
LA	2019-IAFS-12289	Bibiana	Ittimangnaq	Two Figures on Base	1972	Sculpture; Grey Stone; Whalebone; Bone	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
11	2019-IAFS-12291	Zacharie	Ittimangnaq	Man with Child with Bear and Cub	1974	Sculpture; Ivory; Antler	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
-	2019-IAFS-12292	Zacharie	Ittimangnaq	Blubber Pounder	1971	Craft	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-12293	Patrick	Kagoatark	Snow Knife	1972	Craft	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
*	2019-IAFS-12294	Sophie Arnaqtaasaq	Kakiarniut	Seal and Whale	1987	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
C.	2019-IAFS-12295	Maria	Kukkuvac	Ivory Necklace	1976	Jewellery	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-12296	Martha	Kutsiuttikko	Whale Tooth Totem	n.d.	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
4	2019-IAFS-12290	Martha	Martha	Woman	1975	Sculpture; Black Stone; Whalebone	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
W	2019-IAFS-12298		Napasloh (To Be Confirmed)	Acrobat	mi-1970s	Sculpture; Bone; Ivory; Sinew	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-2-IAFS-4992	Nick Sikkuark		Shaman Pulling String from Mouth	1991	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
T.	2019-IAFS-12322	Nick Sikkuark	Nick Sikkuark	Shaman	1989	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-12323	Nick Sikkuark	Nick Sikkuark	Angatkuk	1991	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
2	2019-IAFS-12324	Nick Sikkuark	Nick Sikkuark	Polar Bears on Iceberg	1991	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)

Full View	Temporary Number	Artist - First Name	Artist - Second Name	Title	Year	Description	Community	Prov/Terr
380	2019-IAFS-12325	Nick Sikkuark	Nick Sikkuark	[Faces]	1991	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-12326	Nick Sikkuark	Nick Sikkuark	Shaman	1992	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
•	2019-IAFS-12299	Alma	Ninerk	Ball	1972	Craft	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
•	2019-IAFS-12300	Alma	Ninerk	Ball	1972	Craft	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
0	2019-IAFS-12301A	Charlie	Niptayuq	Bird	1972	Sculpture; Ivory	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
TAR	2019-IAFS-12302	Fabian	Oogark	Bear	1970	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
1	2019-IAFS-12303A	Fabian	Oogark	Fisherman Carrying his Catch	1964	Sculpture; Ivory	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
-	2019-IAFS-12304B	Fabian	Oogark	Wolf Attacking Caribou	1965	Sculpture; Ivory	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
*	2019-IAFS-12305	Fabian	Oogark	Bear Head	1972 -1973	Sculpture; Ivory; Bone	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
NEW PARTY OF THE P	2019-IAFS-12306	Fabian	Oogark	Scene with Hunter, Bear and Caribou	1972 -1973	Sculpture; Ivory	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
R	2019-IAFS-12307A	Fabian	Oogark	Man	1973	Sculpture; Ivory	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
*	2019-IAFS-12308	Fabian	Oogark	Bear and Caribou	1977	Sculpture; Ivory and Bone	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
21	2019-2-IAFS-4033	Lipa	Pitsiulak (To Be Confirmed)	Scene with Bears and Seal	1979	Sculpture; Bone; Ivory	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-12309	Ludwina	Porter	Untitled	n.d.	[Textile]	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
•	2019-IAFS-12310A	Lucie Imingark	Qayaqsaaq	Heads	1974	Sculpture; Ivory	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)

Full View	Temporary Number	Artist - First Name	Artist - Second Name	Title	Year	Description	Community	Prov/Terr
*	2019-IAFS-12311A	Lucie Imingark	Qayaqsaaq	Heads	1974	Sculpture; Ivory	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
1	2019-IAFS-12312	Lucie Imingark	Qayaqsaaq	Mythological Pendant	1975	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
*	2019-IAFS-12313	Lucie Imingark	Qayaqsaaq	Mythological Pendant	1975	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
*	2019-2-IAFS-4991	Nick	Sikkuark	Shaman	1988 - 1989	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-12314	Nick	Sikkuark	Drummer	1987	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
Trans.	2019-IAFS-12315	Nick	Sikkuark	Man Standing with Outstretched Arms	1988	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
THE STATE OF THE S	2019-IAFS-12316	Nick	Sikkuark	Lizard Spirit	1988	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-12317	Nick	Sikkuark	Man Face in Bird Body	1988	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
蓝	2019-IAFS-12318B	Nick	Sikkuark	Bolo Throwing Bird Spirit	1988	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
*	2019-IAFS-12319	Nick	Sikkuark	Shaman	1988	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-12320	Nick	Sikkuark	Spirit Swallowing Animal	1989	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-12321	Nick	Sikkuark	Spirit	1989	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-12297	Martha	Tunnuk (To Be Confirmed)	Whale and Seals on Base	1972	Sculpture; Antler; Ivory; Black Stone	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
Ä	2019-2-IAFS-1408	Artist Unknown		Comb	n.d.	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-2-IAFS-4011	Artist Unknown		Drying Rack	1971	Craft	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)

Full View	Temporary Number	Artist - First Name	Artist - Second Name	Title	Year	Description	Community	Prov/Terr
/	2019-2-IAFS-4012	Artist Unknown		Snow Knife	1972	Craft	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
1	2019-2-IAFS-4013	Artist Unknown		Hunter and Seal	n.d.	Sculpture; Ivory	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
-	2019-2-IAFS-4014	Artist Unknown		Owl and Young	n.d.	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
1	2019-2-IAFS-4015	Artist Unknown		Bird	n.d.	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-2-IAFS-4016A	Artist Unknown		Woman Softening Boot	n.d.	Sculpture; Grey Stone; Whalebone	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
10	2019-2-IAFS-4017	Artist Unknown		Hunter and Bear	n.d.	Whalebone; Antler; Wood	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
= 3	2019-2-IAFS-4018	Artist Unknown		Swimming Caribou	1957	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
EU 20	2019-2-IAFS-4019	Artist Unknown		Bear and Cub	c. 1957	Sculpture; Ivory	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-2-IAFS-4020	Artist Unknown		Fish on Base	1957	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-2-IAFS-4021	Artist Unknown		Three Birds on Antler Outcrop	[1965]	Sculpture	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
1	2019-2-IAFS-4022	Artist Unknown		Bear-Fisherman with Fish	1977	Sculpture; Ivory; Bone	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
4	2019-2-IAFS-4023	Amayurok		Animal	1970s	Sculpture; Green Stone	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
عثث	2019-2-IAFS-4016B	Artist Unknown		Woman Softening Boot	n.d.	Sculpture; Grey Stone; Whalebone	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)
	2019-IAFS-13276	Artist Unknown		Bear and Cubs in Hole	c.1971	Sculpture; Ivory and Antler	Kugaaruk (Pelly Bay)	Nunavut (Northwest Territories)